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NEW QUESTION 1
Which list of components of a Customer Success Quarterly Success Review is common?

A. results from prior quarter, product roadmap, proposed marketing new products, and confirm goals for thenext quarter
B. results from prior quarter, agreed actions completed, benchmarking with the market, and confirm goals for next quarter
C. results from prior quarter, services delivered, issues and open services cases, and confirm goals for next quarter
D. results from prior quarter, cover roadmap and promote new products, and confirm goals for next quarter

Answer: C

NEW QUESTION 2
You are a Customer Success Manager and have just been assigned a strategic new account. Which course of action is the best to help you prepare for the first
customer introduction meeting?

A. Engage with the account team to understand the expansion opportunities
B. Perform a deep analysis of all the sales orders to the past 24 months
C. Build an understanding of your customer’s business and market trends and priorities
D. Speak the internal contacts to understand the customer sentiment and outstanding escalations

Answer: C

NEW QUESTION 3
Throughout the customer lifecycle, opportunities can occur that lead to customers becoming advocates for the Customer Success Manager’s company. Which two
opportunities can lead to advocacy? (Choose two.)

A. moments of success when the customer acknowledges progress
B. successful contract renewal
C. green health scores over intermittent time periods
D. continuing results based on unexpected value
E. results that are not measurable

Answer: AB

NEW QUESTION 4
Which expense is an operating expense (OPEX)?

A. payroll
B. computer equipment
C. software
D. office improvements

Answer: C

NEW QUESTION 5
Which two actions are critical when communicating with executives? (Choose two.)

A. Keep services as a primary topic
B. Focus on the value achieved
C. Incorporate the sales team’s plan
D. Target executive priorities
E. Focus on technical details

Answer: BD

NEW QUESTION 6
Customer A has 120.000 employees and a meeting booking system that is 20 years old. It provides a personalized service that arranges all aspects of video
conference meeting. This service includes 21 staff people globally. Customer A has invested in a video conferencing solution. Their desired outcome is to create a
cost-savings, self-serve approach to achieve business innovation through face-to-face communications. Which two main barriers to adoption does the customer
face? (Choose two.)

A. technical barrier
B. cultural barrier
C. process barrier
D. product barrier
E. cost barrier

Answer: CD

NEW QUESTION 7
The customer wants to reduce their exposure to security events. Which business outcome is critical to the company’s success?

A. risk management
B. market growth
C. sustainability
D. cost efficiency
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Answer: A

NEW QUESTION 8
What is the term for the gap between the features and functions that customers purchase and the features and functions that they use?

A. capability gap
B. financial gap
C. consumption gap
D. organizational gap

Answer: C

NEW QUESTION 9
A customer is coming up for renewal in 180 days for three solutions. One of the solutions has not been fully enabled. The other two solutions are in regular use in
production. How should the Customer Success Manager address the one solution that has not been fully enabled?

A. Contact the services team and request that they reach out to the customer to address the solution
B. Make the renewals manager aware that the one solution is not fully implemented but the other two are fine
C. Investigate why the customer has not enabled the solution and work with the sales and renewals teams to address the issue
D. No action is needed because the customer will probably renew and you can address the issue after the renewal

Answer: B

NEW QUESTION 10
Which of these is included in a success plan?

A. confidential customer information
B. customer business outcomes
C. customer HR processes
D. services cost

Answer: BD

NEW QUESTION 10
A Customer Success Manager must deliver high touch customer success experience. Which customer engagement model must be used?

A. Utilize a digital engagement so all your customers experience the touch of customer success
B. Utilize people to focus on the elite customers for a 1:1 or 1:few onsite customer success experience
C. Utilize the service team to form a larger internal team to lead the engagement
D. Utilize people to focus your customers in a 1:many customer success experience

Answer: A

NEW QUESTION 15
What are two barriers of adoption in an organization? (Choose two.)

A. new product sales motion
B. lack of knowledge on solution
C. organizational announcements
D. implementation issues
E. hiring practices

Answer: BD

NEW QUESTION 18
Which type of KPI is of the most interest to Customer Success?

A. business KPIs that define progress to the Business Outcome
B. sales KPIs for revenue generation
C. IT services KPIs for operations
D. OPEX KPIs that define the operational costs of the company

Answer: A

NEW QUESTION 22
The customer wants to increase their market share and protect brands reputation. Which two business outcomes are critical to the company’s success? (Choose
two.)

A. risk management
B. credibility
C. business growth
D. cost efficiency
E. sustainability

Answer: CE
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NEW QUESTION 27
From a Customer Success perspective, which reason to monitor your customer’s health is the most important?

A. It provides the opportunity to address any changes in the customer’s experience or actions around the solution
B. It allows the customer to identify unused licenses so they can be addressed via a service improvement plan
C. Understanding your customer’s health directly enables renewals
D. It gives the customer valuable insight so they can automatically renew critical on time

Answer: C

NEW QUESTION 29
Your client, the Director of IT Policy and Governance of Easternbank, has just informed you that the CIO is dissatisfied with the current level of utilization of the
collaboration solution that was deployed 3 months ago. The client has requested a meeting to improve the situation. Which reports are critical to the success of the
meeting?

A. number of users registered, bandwidth utilization, number of training sessions user joined
B. number of users registered, service logs, number of users
C. number of users registered, number of meetings user initiated, number of meetings user joined
D. network utilization, number of meetings user initiated, number of users

Answer: C

NEW QUESTION 33
Refer to the exhibit.

Which initial action does a Customer Success Manager take?

A. Run analysis on all the license types used by the customer on all platforms
B. Share the report with the customer point of contact for license types B and D and determine causes
C. Provide trending information on license types B and D and share with all stakeholders
D. Inform the Sales Account Manager to position a new version of licenses types B and D with additional features

Answer: A

NEW QUESTION 35
......
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